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1. Suppose that we have two sets of observations on wages Wi and a row vector of other variables xi 

that are expected to affect wages. One set is of individuals drawn from the U.S. Census of 1990 and 

one is drawn from 2000. They are not the same people in the two sub-samples. We regress  
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where 

 
1 if the observation is from the 2000 Census

0 if the observation is from the 1990 Census.iD
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How would we interpret an estimated β1 of 0.10? Why would it be important to include this term? 

2. Suppose that we now want to estimate the effect of aggregate per-capita GDP in the economy on 

wages, so we include a term β2 ln(GDPi) in the regression. Note that ln(GDPi) takes on only two 

values, one for 1990 and one for 2000. Explain why the model would suffer from perfect collinearity 

if both ln(GDPi) and Di were included. 

3. If we leave out the dummy, can we estimate the effect of ln(GDPi)? Why might this estimate be 

unreliable? 
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